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 Bananen in kg → Euro €  Äpfel in kg → Euro € 

1 kg = 2,20 €   1 kg = 3,20 € 

5 kg = __________________ €  5 kg = __________________ € 

7 kg = __________________ €  7 kg = __________________ € 

10 kg = __________________ €  10 kg = __________________ € 

0,5 kg = __________________ €  0,5 kg = __________________ € 

1,5 kg = __________________ €  1,5 kg = __________________ € 

3/4 kg = __________________ €  3/4 kg = __________________ € 

  
 
Zeit in h → zurückgelegte km  zurückgelegte km – Verbrauch in l 

1 h = _________________ km   100 km = ______________  Liter  

2 h = 180 km   200 km = 14,8 Liter  

0,5 h = _________________ km  50 km = ______________  Liter 

5 h = _________________ km  300 km = ______________  Liter 

2,5 h = _________________ km  500 km = ______________  Liter 

1/6 h  = _________________ km  150 km = ______________  Liter 

1 h 20 min = _________________ km  10 km = ________________  Liter 

 

https://www.mein-lernen.at/mathematik/dreisatz-kopfrechnungen-uebungsblatt-1-loesungen

